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Rewriting Multiplication Problems (visual) Name:
Write each array as a multipication problem and solve. Answers
a)DDDDDDDD 1)000 Z)ﬁﬁﬁﬁﬁﬁﬁ
Oooooooono 000 Yot fr T
Oooooooono 000 R I IR IR Ex.
Oooooooono 000 AR R R IR IR
Oooooooono KR AAARR
Oooooooono 1.
OoOooOoooo
2.
3.
4.
3 OO0 4) #H A 5 VAV,
)OOO )111# )OO
000 YO D Y4 VAV 5.
Q00 V4 QQ
Q00 VA V4 QQ
Q00 Yo ol Qo Q 6.
000 VAV,
000
Q000 7
8.
9.
6)xxxxxx 7) AAAAAAAN 8) CcCCaac
XXX XXX AAAAAAAA CcCCaac
XXX XXX AAAAAAAA CcCCaac 10.
XXX XXX AAAAAAAA CcCCaac
XXX XXX AAAAAAAA CcCCaac
XXX XXX AAAAAAAA CcCCaac 11,
XXX XXX AAAAAAAA
XXX XXX AAAAAAAA
XXX XXX
9)0000000000 m)ooooo u)oooooo
GO0V OOOOOO OO0 OO OO0
0OV VOOOOOO OO0 OO OOOOOO
0OV VOOOOOO OO0 00O OOOOOO
OO0 00O OOOOOO
OO0 OO
OO0 OO
OO0 OO
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Rewriting Multiplication Problems (visual) Name. Answer Key
Write each array as a multipication problem and solve. Answers
a)DDDDDDDD 1)000 Z)ﬁﬁﬁﬁﬁﬁﬁ
OOOOOOoOOO 000 R R R R
Oooooooono 000 R I IR IR Ex.
OOOOOOoOOO 000 Tt T T e
Oooooooono KR AAARR
Oooooooono 1. 4x3=12
OoOooOoooo
2. 5x7=35
3. 9x3=27
4. 6x4=24
OO0 VW4 QQ
3)000 4)1111 5)09
000 HHYH VAV 5. 7x2=14
Q00 V4 QQ
Q00 VA V4 QQ
Q00 YO D4 (VAV) 6. O9x6=54
000 VAV,
000
Q000 7 8x8=64
8. 6x6=36
0. 4x10=40
6) XXX XXX 7)AAAAAAAA 8) CcCCaac
XXX XXX AAAAAAAA CcCCaac
XXX XXX AAAAAAAA CcCCaac 10. 8x5=40
XXX XXX AAAAAAAA CcCCaac
XXX XXX AAAAAAAA CcCCaac
XXX XXX AAAAAAAA CcCCaac 11 5x6=30
XXX XXX AAAAAAANA
XXX XXX AAAAAAAA
XXX XXX
9)0000000000 m)ooooo u)oooooo
GO0V OOOOOO OO0 OO OO0
0OV VOOOOOO OO0 OO OOOOOO
0OV VOOOOOO OO0 00O OOOOOO
OO0 00O OOOOOO
OO0 OO
OO0 OO
OO0 OO
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